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O st ZH40tES Hi=2 FUISAM
20,000,000& =« 14 20,000
Ostdt =& B2 FHIEAM
30,000,000& * 14 30,000
O stat MEOtE E+=2 FHISA
20,000,000& =« 14 20,000
OBté AICIOIS 52Y BE THIA
22,000,000& = 14 22,000
O &t MOtAEDIE L2 WE FHISAM
40,000,000& = 14 40,000
OO0l 2tstlls 83522 FHIHISAM(FY
& 04 01 &t 15,000,000& * 14 15,000
O0lY UHx0ls SHAXSAH(FUECMA)
20,000,000& = 14 20,000
OO0l Heldts M2 SHEIHFIAM
45,000,000& = 14 45,000
00l H40t2 ¥ FHIIIA
15,000,000& * 14 15,000
OO0y EH0tS == FHUISAM
25,000,000& = 14 25,000
o0l &elits IMRI| SAt
20,000,000& = 14 20,000
o0l =2 B3 A 50,000,000 = 14l 50,000
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
=3X sJIH AL IEHE ALY
80,000,000& =« 14 80,000
O4Zl 2el == HHIZA
20,000,000& =« 14 20,000
O=23d JJI0t= == FUISAM
20,000,000& =« 14 20,000
OtlsE AsSlE s2 ZESAM
16,000,000& * 14 16,000
OXl=E W2=0ts =2 FUHISAM
35,000,000& * 14 35,000
OGHE 42| 2202 =2 FHISAH
20,000,000& * 14l 20,000
O stk dlee| 3t == FHISA
20,000,000& =« 14 20,000
O0lY UWXIS0ts &5 EX3AM
20,000,000& =« 14 20,000
OO0y el &0t == FHISA
20,000,000& =« 14 20,000
023 d&el Nx0e s2 XS AM
15,000,000& * 14 15,000
OCE Yzl 422 HIZM
20,000,000& =« 14 20,000
03 Al 2 0HHI 7,200 8,414 AN1,214
OFU=HAS AILR2UH
2,000,000,000& =* 0.36% 7,200
FUEEAMY 1,101,900 1,384,503 A 282,603
401 AIEHIZ 201 8I 1,101,900 1,384,503 A 282,603
1 A&l 1,096,900 1,379,500 A 282,600
O[AI&HI] 1,096,900
OgY Hdelad? DISEFA AXSA
10,000,000& * 14 10,000
0¥Y =SHEZT ZHTA
15,000,000& * 14 15,000
OgdY U512l =2 SHSA
10,000,000& * 14 10,000
09 =42 =2 X& L SHSAM
23,000,000& * 14! 23,000
O0gY 3=2el IYENS =2TIHBA
25,000,000& * 14 25,000
ONS HIENES =22 EXSAM
20,000,000& * 14 20,000
O&s MELOIE s2 ZE3A
20,000,000& * 14 20,000
O&s 2USOtS === EUISAt
20,000,000& * 14 20,000
O3 OlMOtE s2 EXSAM
20,000,000& * 14! 20,000
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SA-3H-S(3AH) - MRAS - BES Off &t 24

045 dsH0ts o FUBA

30,000,008 * 14! 30,000
O45 HAUOIE 2 FYE 52 Fl
= 20,000,0008 * 14} 20,000
045 BH-UEA PE2 HMLI| DA

60,000,0008 * 14 60,000
045 HEOS 42 FUIZAM

15,000,008 * 14} 15,000
045 MIIS 42 BUIZA

20,000,0008 * 14} 20,000
O3 ALK OIIIE ZHHIBA

5,000,008 * 14! 5,000
ONA YHENS BHIFTA

8,000,008 * 14! 8,000
O 3YS52 W2 HUIBA

20,000,0008 * 14} 20,000
ONT BS 2% L 42 JHIZM

33,000,008 * 14! 33,000
OCA AL W42 HH L S2THDA

19,000,0008 * 14} 19,000
ONA 2 OIS VYR FUIBA

19,000,0008 * 14} 19,000
03 U202 29 &X3A

12,000,0008 * 14} 12,000
03 A0S 42 &XIA

5,000,008 * 14! 5,000
03X IL0IS AVATITA

7,000,008 * 14! 7,000
03T JISHS 42 JUIZA

7,000,008 * 14l 7,000
O3F NWOIS 42 FHISA

8,000,008 * 14! 8,000
O3F 852 FUISA 30,000,008 * 14 30,000
023 92 SREFTA

22,000,008 * 14! 22,000
02X HSOiS o2 ETIHIA

10,000,008 * 14} 10,000
023 &s =52 EFIA

23,000,008 * 14! 23,000
O4S BUOIS SH4E FUIZA

15,000,0008 * 14} 15,000
OAlS AT DIY WERTA

5,000,008 * 14! 5,000
OAS OIFIZ OIS HAEZHHIBA

15,000,0008 * 14} 15,000
NS U2 SHOS WAEZHUIZA

10,000,0008 * 14} 10,000
OAS £20HS 42 FUIZA

7,000,008 * 14! 7,000
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
otlE 2308 sZEFSAM
20,000,000& =« 14l 20,000
OtlE st ME-EE =2 MEESM
15,000,000& * 14 15,000
Odls Z= XA0S dt===FHI S A
19,000,000& * 14 19,000
OXlsE A0S ot OtAE TN L2I|3 A
20,000,000& =« 14 20,000
OANZE ES0ts s EZEHEA
15,000,000& * 14 15,000
OANZE 2SZURYE & ZHIAM
6,000,000& = 14 6,000
OAZ &E32 =2 FHISA
10,000,000& * 14 10,000
OAIZE 4532 ZHESA 3,900,000& = 14 3,900
OANZ 3Xel 0t ZESAt
10,000,000 * 14 10,000
OANSZ AE HEs =2 U S At
22,000,000& * 14! 22,000
OFX 25 HOE ¢E ELHESAM
15,000,000& * 14! 15,000
O Z &c2l0t= =2 =SS A
10,000,000& * 14! 10,000
OFLE 3SHOIE =23 At
15,000,000& * 14! 15,000
OEZ s90t8 sZ2ZE3AM
7,000,000& * 14 7,000
OLEXE 3202 =2 ZHIZA
10,000,000& * 14! 10,000
OGE it Z2Z0tS =2 EHI S A
7,000,000& * 14 7,000
OLXZE F&e 52 ZHESAM
15,000,000& * 14! 15,000
O&XE {stel SHZ AL 30,000,000& = 14 30,000
OTXE 4 A0S SHSAM
19,000,000& * 14 19,000
OTX X202 SYESA
10,000,000& * 14 10,000
OZAMN =32l SSEHISAM
8,000,000& = 14 8,000
OAN QUDIE s EESA
15,000,000& * 14 15,000
O=AM 2&el AIIs0tES AZEZEHIA
20,000,000& = 14 20,000
02N SRRl o2 THIA
10,000,000& * 14 10,000
ONMS AZ20t2 =2 FZHISA
10,000,000& * 14 10,000
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ONS HE0S sZEFSAM
12,000,000& * 14 12,000
OMNES HE0t2 =2 FHISA
10,000,000& * 14 10,000
OMNE SEOIS =2 FHISA
10,000,000& * 14 10,000
ONS ot&2 DISREEESAM
5,000,000& = 14 25,000
O st S&el FHEUISAM
5,000,000& = 14 5,000
OBttt Sd2l Ha0i2 HUSHBA
8,000,000& =« 14 8,000
Ot DiEel AHZEFEIA
15,000,000& * 14 15,000
O &t =ot0tS Ui EHI S At
10,000,000& * 14 10,000
O0lY HW=0t= == FHI S A
10,000,000& * 14 10,000
o0l DI=E0E =28 ¥ =2 FHI3AM
32,000,000& * 14 32,000
OO0l algte] MYZHHIZA
15,000,000& * 14 15,000
OOl &lgtel Ot=Std SHEIAM
15,000,000& * 14 15,000
03 AlE 2 THHI 5,000 5,003
OFUSHAIY AIZSC0HEl 5,000,000& = 14 5,000
FoHAAMNG (SHAH) 1,254,500 1,254,500
AR EFUEAALY 1,254,500 1,254,500
401 Al& Bl 28I 1,254,500 1,254,500
01 A& HI 1,250,000 1,250,000
O[AI&HI] 1,250,000
0dY 2=21cl S+=ZFHISA
15,000, 000& * 14 15,000
Oge 2512l sFXNFHBAM(+=2)
15,000, 000& * 14 15,000
O0dY s&1el sZNEHSA
15,000, 0002 14! 15,000
OdY Malel s3X EHSA
20,000,000& =14 20,000
0%y =41l IS tH=Z ZHI S At
15,000, 000& 14! 15,000
OdY s&2el sZNEHSA
20,000,000 =14l 20,000
O0dY ¥gel =3 X FHSA
10,000,000 =14l 10,000
OdYy 842l =2 X EBHSA
20,000,000 » 14! 20,000
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OdY el A=A 20,000,000 =14l 20,000
Ods s0tEs SHE& X 20,000,000 * 141 20,000
O3S HENS == FHl 20,000,000 »14 20,000
Ofs Jtuegerd ==&l

20,000,000& » 14! 20,000
Ofs st s2E+EH|

20,000,000& » 14 20,000
O#= NMX= th==&Hdl 20,000,000& *14! 20,000
Oz AMNMHEOES =22FYI

20,000,000& =14 20,000
OHds HWENS =2 24X

20,000,000& =14 20,000
OHsS EYxss1F =2 FH|

20,000,000& =14 20,000
ods gdel s2Z% 20,000,000 » 14! 20,000
Ods d5e(sY) s22F

20,000,000 » 14! 20,000
Ogd FH2el == & XIS At

15,000, 000& 14! 15,000
O g 22l == HHI S At

15,000, 000& * 14! 15,000
O 4Gl A2 == HHIS At

15,000, 000& 14! 15,000
OEd ®iel =2 F IS A

15,000, 000& 14! 15,000
Oz dFE HaR=H L TN

10,000, 000& 14! 10,000
O ga =H2cl EHH+=ZEHISA

20,000,000 =14l 20,000
OEd 432l =2 FHIS At

10,000, 000& 14! 10,000
O0=2% [ELNS M2 A2 EE SAt

20,000,000& =14l 20,000
O3 W& SZEHEZSAL 15,000,000 14! 15,000
O=d dE sZTEHEIA 20,000,000 =14 20,000
O=2d STFE == FHISA

20,000,000 =14 20,000
O3d UWFZE == FHISA

10,000, 000& * 14! 10,000
O23d &0tS =2 FUISAM

15,000, 000& 14! 15,000
OAlS Ttz FADS B+ LXBA

25,000,000& =14 25,000
O4S BEe HMOS =2 FHIS A

20,000,000& =14l 20,000
O4&lS 0l&2l B2 FBISA

15,000, 000& 14! 15,000
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oAl #H™E| =202 =2 X2 At

15,000,000 =1 Al 15,000
ON= 0|&e HAS0lS =2 ZHI Z Al

10,000,000 = 1Al 10,000
ON=E Hs MoADIS HE=Z2ZHI Z AL

15,000,000 » 1Al 15,000
O AZ B2l sSZ2FHHIZ2 A

6,000,000 =14l 6,000
OAZ 432 =2 ZHIZ2AH

10,000,000 =1 Al 10,000
OAZE S0t32] s EZEZA

15,000,000 » 1Al 15,000
OASZ 202 SHix==2 HHIZ2A

13,000,000 = 1Al 13,000
OAZE A1 s EZEZA

10,000,000 » 1Al 10,000
OAZE 2A242 s EZEZA

6,000,000 =14l 6,000
OAZ 2X 22 =2 HHl2A

11,000,000 » 1Al 11,000
OANZE 2422 s EZEHZA

5,000,000 =14l 5,000
OANST U2 s EZEHISA

10,000,000 = 1Al 10,000
OAZ 2tEX AZ2ZI|ZA

14,000,000 » 1Al 14,000
OTXE 3sHOS o2 HHIZA

20,000,000& = 14! 20,000
OCE 9U=EA40Is & s EZHZ2A

20,000,000& = 14! 20,000
O X &=s0t2 =23l 2 At

20,000,000& = 14! 20,000
OCHE 252 H42&FHIZ2A

20,000,000& = 14! 20,000
OEXE P& s2EZEHISAH

20,000,000& = 14! 20,000
OZA AlDJIS 0IS2td & 23|I Z2AH

20,000,000& 14! 20,000
OZA XNEOtsS ot S A DA

10,000,000 » 1Al 10,000
OZA R2EOIS ot AUl S A

20,000,000& = 14! 20,000
OZA &EHY 2E EAMALIZA

20,000,000& = 14! 20,000
O2MN NS (0IUeY=)sZ2 L EZA

20,000,000& = 14! 20,000
OZA AEAHDIS 22 HHIZA

10,000,000& = 1Al 10,000
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x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMNES BHEZHDIS =2 FUIMZ
25,000,000& =14 25,000
ONS SZ0S sZ2MHESAM
10,000, 000& 14! 10,000
ONS SISOtE =2 S& S A
10,000, 000& 14! 10,000
OMNE A0t WX 2 Y2 X3
At 10,000, 000& 14! 10,000
OMXME ECt30tS =2 FHISAM
20,000,000& =14 20,000
OMNES ZS0tS =2 EUISAM
10,000, 000& 14! 10,000
ONS S40IES 2 HUISA
15,000, 000& 14! 15,000
O & =gl =2 FHISA
20,000,000& =14 20,000
O &b Adel =2 FHISA
20,000,000& =14 20,000
O stét Sl s2EHSA
20,000,000 =14 20,000
O &b 2atg] =2 IS A
15,000, 000& 14! 15,000
Ostat stHel s2 ZESAM
15,000, 000& 14 15,000
Ostat plEe s2 ZESAM
10,000, 000& * 14 10,000
OO0y EH0IS =2 FUISAM
15,000, 000& 14! 15,000
OO0l AXNS Y2 SHELHFIA
13,000, 000& 14 13,000
OO0y d&e| &= EXSAM
15,000, 000& 14! 15,000
OO0y Sclits =2 EXSAM
10,000, 000& * 14 10,000
OO0l s1X0tS OtAZE EZEHIA
8,000,000& »14! 8,000
OO0y HE0IS =2 EXSAM
20,000,000& =14 20,000
Ol ottt A= &XSAt
19,000, 000& 14! 19,000
03 Al 20 HI 4,500 4,500 0
OlAlE=20l] 4,500
SHFEOUBAAY ALY
1,250,000,000& *0.36% 4,500
St2AFHE 29 316,492 515,130 A 198,638
st2A=83 XA 316,492 15,130 301,362
201 LB-2E | 13,842 12,480 1,362
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01 At 22l 8,300 8,300 0
Oflget=&tl] 5,800
oBsASHYE B2 FDL4E
500,000& * 23 1,000
Ot=2Ad=ugs 2 MREES FH|
1,800,000& * 14 1,800
OstsA=Hs S22 MH
1,000,000& * 3A 3,000
Oolgxz] 2,500
Ost=sA=uEHs 2F SAI =
2,500,000& = 13l 2,500
02 =224l 5,542 4,180 1,362
Osts=stys Y ¥4 2323
213,500& = 12& 2,562
Ost2An=2E3s AL B =
2,500,000& = 13l 2,500
Ost2x1=2gs 222 230
240,000& = 23| 480
202 Odl 2,650 2,650 0
01 = LHA YI 2,650 2,650 0
Ostz2sszs 2y X0
20,0003 = 52 x 26.5¢ 2,650
307 21201 A 300,000 0 300,000
04 DIZHHALALSE E X 300,000 0 300,000
OHN6zal Het2= st=s2HxF 23
300,000,000& * 14 300,000
UBtS MU ENY 12,718,736 15,829, 264 A 3,110,528
= 18,000
Xl 10,365,000
< 50,000
[ia 2,285,736
SHATMX S & E 5,112,000 6,611,000 A 1,499,000
Xl 5,112,000
MASE(BELYE)ATUNSEFLE AL 2,837,000 3,170,000 A 333,000
Xl 2,837,000
202 oddl 1,400 0 1,400
Xl 1,400
01 = LH o4 1l 1,400 0 1,400
O[=oddl] 1,400
CUSESLELAMANSEEHMT N =222
LH 04 I 1,400,000 * 14 1,400
X 1,400
T AEHIZXEUY 2,835,600 3,170,000 A 334,400
Xl 2,835,600
01 A& HI 2,832,800 3,165,700 A 332,900
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O[AI&HI] 2,832,800
ONSSETLE LAMA ESEEHEIAY
2,832,800,000& * 14 2,832,800
Xl 2,832,800
03 A& =TI 2,800 4,300 A 1,500
OtSSSLE AMANSEZHAY AILRUH
2,800,000& = 14 2,800
Xl 2,800
MEH SESHNBLESALY 910,000 204,000 706,000
Xl 910,000
401 A& BIZ 201 8] 2,100 0 2,100
X 2,100
03 AIE 2 0H bl 2,100 0 2,100
O[AIE=20l] 2,100
OX=ECHSESAUXNE LAY AIERUHI
2,100,000& = 14 2,100
Xl 2,100
402 RI2EX 20| ™ 907,900 204,000 703,900
Xl 907,900
03 BI2HCH & AL & HI 907,900 204,000 703,900
Ot =Y SESHA 243 MY 22 /AE
AFEHI 907,900,000& * 14 907,900
Xl 907,900
SAH sESHNELEIFIMG 560,000 564,000 24,000
X 560,000
401 Al HIZ 2 THY| 1,400 214,000 A212,600
X 1,400
03 Al =2 THHI 1,400 1,540 A 140
OHZH sESHXNELs A R0
560,000,000& * 0.25% 1,400
X 1,400
402 RI2HXt20l ™ 558,600 350,000 208,600
Xl 558,600
03 QI 2HCH & AF S HI 558,600 350,000 208,600
OHZH SESHNELs A 22 A&
A HI 558,600,000 * 14l 558,600
Xl 558,600
USEsESUNE LAY 805,000 0 805,000
X 805,000
202 oddl 1,400 0 1,400
Xl 1,400
01 = LH 4 1l 1,400 0 1,400
O[=2uoibl] 1,400
OILES=ESHUXNEEIIAY =222
04 dl 1,400,000& * 14 1,400
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Al 1,400
401 Al& I 28I 481,600 0 481,600
Xl 481,600
01 A& HI 481,600 0 481,600
O[AI&HI] 479,500
OZAS=ESTEA S43AY
479,500,000& * 14 479,500
Xl 479,500
O[AM&=20dl] 2,100
OILES=ESAX 2HESAY AERUHI
2,100,000& = 14 2,100
Xl 2,100
402 QI2H X201 M 322,000 0 322,000
Xl 322,000
03 BI2HCH & A& HI 322,000 0 322,000
OZLSsESHAN 2HSAIY A&S23 ALY
u]l 322,000,000& = 14 322,000
Xl 322,000
A SE EYI 3,494,450 ,836 A 3,159,386
X 2,336,000
i 1,158,450
SHEOSAHY ZSEEHAY 2,509,450 ,000 1,509,450
Xl 1,706,000
[ia 803,450
202 odl 3,000 ,000 1,000
X 2,100
s 900
01 = LH Yl 3,000 ,000 1,000
OEZAHY ZEIHAMY X2l SHod
3,000,000& = 14l 3,000
Xl 2,100
i 900
401 AIEBIZ 28I 4,000 ,000 1,000
Xl 2,800
[ia 1,200
03 Al 20 HI 4,000 ,000 1,000
OEZAS SEHHIAE AIZ20dI
4,000,000& = 14 4,000
X 2,800
s 1,200
402 RI2HXt20l 2,502,450 ,000 1,507,450
X 1,701,100
[ia 801,350
03 2I2HCH & AFS HI 2,502,450 ,000 1,507,450
OEZHY ZSHHIAMZ LZAE A
2,430,100,000& * 14 2,430,100
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Al 1,701,100
s 729,000
OZxZdY ZE$IHIMY 22 A=A HI(20
1549 XS0 £8&) 72,349,2008 * 14 72,350
A0S BS) S SEMHLEAMS 900,000 200,000 700,000
X 630,000
s 270,000
202 O4dl 3,000 5,000 A 2,000
Xl 2,100
s 900
01 =2 LHAYI 3,000 0 3,000
Ol=uadobl] 3,000
0% EEdY SEJHIAMY X2l 22U
04 bl 3,000,000& = 14 3,000
Xl 2,100
[ia 900
401 Al BIZ 201 8] 2,000 1,000 1,000
Xl 1,400
e 600
03 A& =2 THHI 2,000 1,000 1,000
OZF BYAA ZHHLAY ANL20Y
200,000,000& * 1% 2,000
Xl 1,400
[ia 600
402 QIZ2EX20l ™ 895,000 194,000 701,000
Xl 626,500
e 268,500
03 I 2HCH & A S HI 895,000 194,000 701,000
O2% 8Y4AY ZHNLAMY 2Z 42 A
=l 895,000,000& * 14! 895,000
Xl 626,500
[ia 268,500
EXTHOGSUS) SL32ANY 24 85,000 85,000 0
207 A RO & H| 85,000 85,000 0
01 289 85,000 85,000 0
ol gdt 85,000
OUNISHASE N ALY HHAHEAN 2d
16,000,000& * 1JH Xl = 16,000
OltSH? S22 - SXAE GlHI A=A
S 9,000,000 * 201Xl 7 18,000
OS2 ZFHM(ME - AS)AL OlbIAHEA
B 10,000,000& = 1JH X+ 10,000
O0ISHS 22 (F2 - MEH)AMY GIHIAHEAN
a4 9,000,000 * 201Xl 7 18,000
OAlZ F2AAMY OUlH=EAM &4
18,000,000& = 1JH X+ 18,000
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ONZ SZJSAS GOIAN =4
5,000,000& = 1A 5,000
JlZ=MEol T2t M| 1,800,000 1,332,858 467,142
Xl 1,260,000
= 540,000
SEMESIA XY ALY 1,800,000 1,332,858 467,142
N 1,260,000
= 540,000
401 AlEHIZL 201 Y| 1,800,000 1,332,858 467,142
Xl 1,260,000
= 540,000
01 Al&H| 1,794,000 1,329,000 465,000
O[AI&Hl] 1,794,000
OsZMEEHAEH MY
1,794,000,000& = 14! 1,794,000
N 1,255,800
= 538,200
03 Al 20| 6,000 3,858 2,142
OsESMESEIAEHAIY AIZ20H]
6,000,000& = 1Al 6,000
Xl 4,200
o 1,800
sEs LY 36,000 0 36,000
= 18,000
= 18,000
SES A ZTEASY 36,000 0 36,000
= 18,000
= 18,000
307 2iz2tol A 36,000 0 36,000
= 18,000
= 18,000
02 QIZIA AAIE E X 36,000 0 36,000
020178 FodF s=S&TLH ASHEXZ2
36,000,000 = 14! 36,000
= 18,000
= 18,000
B XX %ALY 150,000 160,000 10,000
Xl 120,000
= 30,000
ANHAS &= MEstW S0 02 150,000 160,000 A 10,000
Xl 120,000
= 30,000
207 A SO0 | 40,000 40,000 0
Xl 32,000
= 8,000
01 S| 40,000 40,000 0
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ME st S0i0tS S/WAF HI
40,000,000& » 14
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O[=2uUobl] 1,000
OHANSHT BS25 . ZAAY NS 22
=LYl 1,000,000& * 14 1,000
Xl 700
[ia 300
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